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RESIDENTIAL FALL HAZARDS TEST 

Circle the most appropriate response for each question. 

1. A slide guard is an acceptable form of fall protection while working on a 6:12 residential roof. 
 

a. true 
b. false  

 
2. Conventional fall protection systems consist of the following: 

a. guardrails 

b. hole covers 

c. personal fall arrest system (harness, lanyard, anchor point) 

d. all of the above 

 

3. An anchor point used for personal fall arrest must be capable of supporting: 

a. 1000 lbs 

b. 2000 lbs 

c. 3000 lbs 

d. 5000 lbs 

 

4. At what height above the ground is fall protection required when working along any unprotected 

edge? 

 

a. 4 feet 

b. 6 feet 

c. 10 feet 

d. 25 feet 

 

5. A guardrail or fall protection is required on scaffolding at _______ feet. 

 

a. 4 feet 

b. 6 feet 

c. 10 feet 

d. 25 feet 
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